PaBeHCTBO
npooden

5 KJlacc



Kakue n3 gpooei

6 27 24
14" 63 49
5

paBHBI JPOOU -




Ha3oBUTE HECKOIBKO
npobeun, paBHbIX AaHHbIM:

6 7 20 100



[pacbnyecKkm OUKTaHT

OTBET «J1a» COOTBETCTBYET  , OTBET «HET» COOTBETCTBYET /\.
4 D3
1) == g 6) 155
9 3 4 16
2) T = ‘5: 7) T o 50"
4 12 1S
: 7= 28 i 35
3 9 8 2
4) s =18 9) 1286
1 4 4 2
5) 1 = R; 10) 18 = 3"



- Knmwvu

«5» — 10 3a/,aHNK

«4» — 8, 9 3aaHUK

«3» — 5, 6, 7 3aaaHUK

«2» — MEHbLLE § 3aaHUW



[lomalluHee 3aaaHue

Ne 771(4,5
CTOJNIOUK),
Ne 775 (4,5
CTOJNIOUK)



Pemnekcus
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M paobomaii Ha ypokxe.

—— _d__,‘/
S

C o\\}
o

et

o
—

00\

\ Ha ypoke mne ovino
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